
REV.ZK-1-8070-0424

ASSEMBLY INSTRUCTIONS

WARNING: To avoid serious personal injury: 

Carefully and strictly follow assembly instruc�onsons. Improper assembly of 

furniture can result in structural failure, instability of the product, or �pp-
over. 

Monitor and carefully control the assembly components. These include 

small parts and hardware that may present a choking hazard to small 
children. Bob's furniture should be assembled only by responsible adults 

and children should not be involved in the assembly process. 

Where provided, wall moun�ng hardware should always be used as 

prescribed in these instruc�ons to anchor furniture to wall. Proper use of 

the wall moun�ng hardware can significantly reduce the poten�al for 

furniture �p-over and crushing injuries. 

•

•

•



K
x1

P.1 P.1ASSEMBLY INSTRUCTIONS

A
x1

B
x1

C
x1

D
x1

Backrest Seat with retractable 
foot rest

5-Leg star nylon base Multi-function 
Mechanism 

E
x1

F
x5

G-L 
x1

G-R
x1

Lift cylinder Rollerbade 
Caster

Left armrest Right armrest 

Support for 
backrest

MAIN PARTS LIST

Headrest Backrest cover

(Front) (Front) 

Sitting on the 
chair, not 

looking at it

H
x1

I
x1

J
x1

Lift cover, SET 
of 3 cones

L
x1

Headrest cover

Sitting on the 
chair, not 

looking at it

• Do not discard this manual or 
any of the packaging material 
until the unit is completely 
assembled.

√
√

• Do not overtighten or 
force the screws as they 
might break, strip, damage 
the threads of the holes, or 
get stuck inside the parts.

• Read the assembly 
instructions throughly and 
follow them step by step.

IMPORTANT NOTES

M5 Allen Wrench

INCLUDED TOOLS

Part # QTY SIZE/Description Item

M

N

O

P

Q

HARDWARE LIST

9 M6x20

6 M6x30

3 M8x20

6
Ø8.5, Ø17, 1mm

Metal washer

2
Ø10, Ø23, 6mm
Plastic washer



(Front)

STEP 1

Hardware

P.2 P.2

Place the mechanism D with its tilt knob facing towards the FRONT, and assemble 
it with screws M.

ASSEMBLY STEPS

M
M6x20

4
Pcs

Flip over the seat B and pull out the footrest to allow acces to the side holes. Put 
the plastic washers Q over the INNERMOST holes, and assemble the armrests 
G-L, G-R  in their respective sides with screws N and metal washers P. 
PLEASE NOTE:
• The armrests lean forward towards the FRONT of the chair.
• The side (left or right) is defined with you sitting on the chair, not looking at it.

STEP 2

Hardware

N
M6x30

6
Pcs

K

P Metal 
Washer

6
Pcs

PULL OUT FOOTREST AND 
PLACE PLASTIC WASHERS

RIGHT

G-R

PLASTIC WASHERS 
FOR INNERMOST 

HOLES ONLY

LEFT

G-L

(Front)

ASSEMBLE THE 
ARMRESTS

N

P

K

D

B

B

I

Assemble the support I under the plate of the mechanism D with screws O. 
The screws go through the plate and into the holes of I.

O
M8x20

3
Pcs

STEP 3

Hardware

I goes under 
the plate

K

D

M

M

Q Plastic 
Washer

2
Pcs

Q

Q

(RIGHT)

(LEFT)

ASSEMBLY INSTRUCTIONS



A

I

STEP 5

P.3 P.3

Join the base parts to the seat making 
sure the tip of the lift E enters correctly 
into the hole of the mechanism D.

M
M6x20

3
Pcs

STEP 6

Hardware

K

Flip the unit upright and assemble the backrest A to the support I with screws M.

M
M6x20

2
Pcs

STEP 7

Hardware

K

Assemble the headrest J to 
the backrest A with screws M.

M

ED

STEP 8

Attach the backrest cover K to the support I and 
the headrest cover L to the headrest J.

STEP 4

Insert the casters F into each 
leg of the base C using 
pressure, then place the lift 
cylinder E in the middle of the 
base and cover it with H.

F

C

E

H

J

A

J

I

L

K

M

ASSEMBLY INSTRUCTIONS



P.4 P.4

HEADREST ADJUSTMENTS: 
For your comfort, the headrest can be 
manually adjusted UP and DOWN or 
tilted forward/backwards.

ARMRESTS HEIGHT:
Press the button located on the outside of the 
armrest and release at the desired height. 

FOOTREST: 
Pull it out from under the seat and flip it UP. 
WARNING: NEVER try to get up from the 
chair while the footrest is OUT.
To close it, flip it back DOWN and push it IN 
under the seat.

RECLINING TENSION: 
Turn the tension knob located at the front of 
the mechanism under the seat; turning 
CLOCKWISE will apply less tension, making 
the reclining feel easier, while turning 
COUNTERCLOWISE will apply more tension. 

BACKREST RECLINING: 
Pull OUT the same lever to UNLOCK and make 
the backrest recline freely. Push IN to lock at 
any angle.

CHAIR HEIGHT: 
Flip DOWN the handle on the lever that is 
under the seat on the right side. The chair 
goes down while sitting on it, or up if you lift 
your body.

CHAIR'S FUNCTIONS

! Read warning above

ASSEMBLY INSTRUCTIONS



P.5 P.5

WARNINGS

Not paying attention to the above warnings could result in injuries.

Do not leave babies or toddlers 
unattended while seated on the 
chair, always ensure adult 
supervision. Keep children from 
playing with the chair for their 
safety.

Refrain from sitting on the edge of the seat to 
prevent the chair from tipping over.

Do not exceed Max. weight 
limit as indicated above.

Do not stand or use the 
chair as ladder.

Only one person at a time.

WEIGHT LIMIT

275 
Lbs

(125 Kg)

1 Person

Do not use the chair if 
parts are bent, damaged, 
or if screws are loose or 
missing.

ASSEMBLY INSTRUCTIONS

CARE AND MAINTENANCE
Clean with a soft cloth 
lightly damped in a 
solution of smooth 
soap and water.

INSPECTION DATE

Do not use solvents or 
abrasive materials.

Do not expose to direct 
sunlight or to extreme 
environmental conditions.

40

104°F

14°F

Inspect the chair throughly 
every 4 months and re-
tighten the screws.

MILD SOAP


	Page 0 (Front page)
	Page 1 (Parts list)
	Page 2 (Steps 1, 2, 3)
	Page 3 (Steps 4, 5, 6, 7, 8)
	Page 4 (Functions)
	Page 5 (Warnings, Care)

